& 139 9 0€ AB
26cm, BC = 24cm, AC
10cm©] 1 £C = 90°¢! Az}
skl Wst et
2 09 W29 ol

@ 1lcm @ gcm ® 2cm @ gcm ® 4cm



2. U2 O9F To] AB & A 522 5h= 6 O of| A A A AD,
BC,CD 7} US W, AD =1cm, BC = 9cm °]t}. ¥ 0 2] A &9]

dole?

@D 3cm @ 4em 3 5cm @ 6cm B Tem



3. TS 1994 oABCD &= AB = 8, AD = 10 ¢l ZAAZAFoltt. ¢
O 7} bAECD o AT o, AABE 9] Y o|& Fa1H?

N\




oS I 40 EAB &4 C 9
Al Astal, PA ¢} PB 9] AT} = A
T, T, AlA Z+ZF At PC = 3cm
@:2em%ﬂ1,ﬁ+ﬁﬂ%&%?

® gcm @ +alem ® 2+Tem

@ V29cm 3 2429¢m



SH A& ABCD 7} gt

5. o 283 o] 90 o eHst=
Ao, W O o yole?

AD = 8+v2cm , BC = 24 V2cm

@ 69rcm? @ 69 V2rem? ® 96rcm?
@ 96 V2rcm? B 8V6rem?



6.

oF& 13} o] s B Aol 7} sem
Q1 AFE-glol] A 5Hs 9 0 7} 9let.
0 o WAB ] Pol?

@ (5v2-5)cm @ (4V2-5)cm
@ (2V2-5)cm ® (V2-5)cm




